7.70 Review.notebook June 05, 2018

Review @

1. Topics
- Recursive Sequences
- Arithmetic Sequences 2. Review Questions
- Geometric Sequences

- Arithmetic Series Nelson Page 468 #s 3
- Geometric Series (i), 4, 8(ii), 10, 11,

- Pascal's Triangle 14ad, 15ab, 18ac &

- Binomial Theorem 23cd AND

- Simple Interest Nelson Page 534 #s 2,
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a)
b)
c)

3. For each arithmetic sequence, state

i)
O\B Q= Sg/d= S
= £, =S8+ S(~-v)

the general term

= S/\ 1‘-5-3

b 78
?—————)fn"

= S8+Sn-S C) Q=8|,0(:'é

58,73, 88, ...
—49, —40, —31, ...
81,75, 69, ...

= ¢, =81-6(r-)
=8l—ér\ +6
= -b6n+87

May 25-14:14

4. Determine the 100th term of the arithmetic
sequence with #7 = 465 and #; = 219.

‘é_;_: At 0((:}-6

S sz atbd O D2A=a+ld ®©

Subtrochs =@ - O Usire A = =

— 219 = a + [2d <ub indo CD
—__L_(éS: 0\0(4- 64 - %S‘:O\'l'éé“"“)
"/Zf’_é_:% 44s = a - 266
_qi =4 A==

=L, = 21=4(n-)

€= atd ()

= 2] = %In + 4%
= —Hn + 52

May 25-14:16
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8. For each geometric sequence, determine

ii) the general term

o\=/2/(:f

b

a)

b)
)

the first term is 7 and the common ratio

is —3
1
a=12and r=—
2

the second term is 36 and the third term
is 144

to=i2(2)"

May 25-14:16

10. In a laboratory experiment, the count of a certain

bacteria doubles every hour.

a) At 1 p.m., there were 23 000 bacteria present.
How many bacteria will be present at midnight?

b) Can this model be used to determine the

bacterial population at any time? Explain.

n =12 [one pm —> M"O""'j’@
12— |
t, = 23000(2)

= 23000@0“'8)

May 25-14:17
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11. Guy purchased a rare stamp for $820 in 2001. If the
value of the stamp increases by 10% per year, how

e e, = 1o [ o2
’ﬁ{o: 820("’o>l°-'
= 820</'/o>0'
= $1933.52

May 25-14:18

14. For each arithmetic series, calculate the sum of the
first 50 terms.
a) 1+9+17 + ... d —9—-14-19 — ..

o=1,A=% a=-9,d=">
S =2 preb) S T(elo)-s(s-)
_ zs<z+ 392) = 25(»:8 -24S)

= 25(37%) = 25(-263)
= a850 =657

May 25-14:18
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15. Determine th sum of the first 25 rerms of an
arithmertic n which
a) the F st term is 24 and the common difference b) # =91 and ¢ty = 374
s 11

=2 d =l €=l Tye =%
- 25 <z(2+)+u(zs—l)> S,c= 25 <0,(+ 3?%>
- ps(er2s) =25
- 12.5(312) = 58125

= 2900

June 05, 2018

May 25-14:19
18. For each geometric seri calculate € tga and S
a) 11+33+99+ Q) 6— 12+ 24— . [Z
_ — 33 - _
o\—ll (‘—»3—-~ a—é r— = L

! 6-6|
t, = u<3) B tg = 6(’2 <

May 25-14:20
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_ 0%~

. ,(223}(55’ +3 <2C)1(S)‘ +3 (2<)'<S)Z+ I<2c)° (S)3
= Bc® + Loc” 4 ISoc + 250 |
0w [1,6,15,20,15,6;] 1]

= 1® ( L)+ () 15 34) +15(%) Gy

1o o S G
Fo(eF L3P +ISCH ) + <+(+> g

1331

I
| )
2 |

184324 + 34sbod” - 34%043
+ 194god - 58324 FENY

May 25-14:20
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2. Pia invests $2500 in an account that carns

tha simple
interest. At the end of each month, she ear;

ns $11.25

1 interest.
a)  What annual rate of simple interest is Pia carning?

Round your answer to two decimal places.

b) How much money will be in her account
7 years?
c) How long will it take for her money to double?

N I=FT
125 = 2500(Nw)

_U-__ZEQ =C
2590
0O.05% =0

L) Inferest comed =
= $us

after

l = o,oSCl-t

1852 =t

Y ] (27 V(s
/%m nY

~ _|
one mordh = 7

S— Interest — o,oS#Xloooo.
fa\'fe

9(/1)({/,25)

S.o5% 0.05% = /8.5 yers 1o

=S 0%

dounble

May 25-14:21

4. Isabelle invests $4350 at 7.6%/a compounded

quarterly. How long will it take for her investment to

grow to $10 000? N
A=P(I+0)
N
oo = £350(/ 49909
7 N Q—BS’Q
N
g = LOIQ,
2.2988 A heck

(/IS'.‘\ﬁ 914 ess

w7
& = 4,41-,22_’_‘_@;)
&

Q(/\qr'feA ) = LF

May 25-14:22
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9. Roberto financed a purchase at 9.6%/a compounded
monthly for 2.5 years. At the end of the financing
period, he still owed $847.53. How much money
did Roberto borrow?

P = A(t +c>
p = g@.S3(1+0. oo8)

p= $£67.33

I

May 25-14:22

Fv=$31838.87

11. For each annuity, calculate the furure value and the
interest earned.
-\N
Rate of - ([+L> -
Compound F\/ - R A
Regular Interest Compounding E
Payment per Year Period Time
a) | $2500
T = -_—
per year 7.6% annually 12 years _L - FV R (f\)
b) | $500 every g, g(,l)
6 months 7.2% | semi-annual lly 9.5 years b) I
.91
o | 12500 FV =50 (H‘ ) 1l
per quarter 4.3% quarterly 3 years ___—’——'

121 o.972
V= 2%0((1+258) -1 z
a\) : ‘—é—'ﬂ’JF\/: Soo (/,OBé)lq")

©.03b
Fv = _ﬁi}i’;”)_ fu= $/3306.7>
b 423302 35 T = iss067-5=(1
Ja
IV izs23s-250(®) T pEE
T= $6332.35 o) I 3/838.8%
o) Fv = 2500((14—0 o) — 250 (1%)
0.0% T =%18388%
Fy= 2500/ o) =)
O.0l0%FS

o, 072

May 25-14:23
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13. Ernie wants to invest some money each month at

9%/a compounded monthly for 6 years. At the end of
that time, he would like to have $25 000. How much

money does he have to put away each month?

Fv=R (1) -1)

C
. v
(1+0"=))
_ 2500 /0»009'59
- (/,009-5)?2—- l

@ = ____L&?'__SQ—-
O.7255. -

g = $263.1r

= R

K

P’)o/\H\b = [2
Fv = 25000

( = ,0_’3? = 0.00>S
2

May 25-14:23

15. Paul borrows $136 000. He agrees to make monthly
payments for the next 20 years. The interest rate
being charged is 6.6%/a compounded monthly.

a) How much will Paul have to pay each month?
b) How much interest is he being charged over the
term of the loan?

pV = R()—\(wzj")

C
> p= PO
(- (")

p = [36500(0>)

—
—

248
©.7:3/8962886

ﬁ = $/022_.OO

-

1
I

([—- (1,0055)_2%) j:: 2((—5-280"360&
T= _f/c)"iZZo,oo

MOI\H\/:Q = |2

PV = [3460900

= 0.066
12

n = 2o(|2> =240

= R(~n) - FV

= |0 (z@o)
— (30

~

¢ = 0.008S

May 25-14:24



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9

